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RARESGRIBEDZEIL

> xR RKETEE S8 maximum stable set problem
> EEJ ST G=(V,E), REEV=(12,..,n}, REEE, |Vl=n, |El=m
> REERS stable set = VDIHRE S T, FED2RRICHRMENRS

> B =RERKED>bERY|S| VHZKDEDZEKRHD

RESG DY
S ={14,7,10}

2




B'Eij( TSR G REDmEL

=1t BN EXNL (ERERTE)
sty V1L RVDIRERESICEFNDS(WES)
> 0158, {0 CEYAREESR SITEEREL(WES)

> xiE b D E XL (EREE - NFREL)

max.),i—; X; max. X;+X,+...+x,
s.t.x;+x;, < 1(V(i,j) € E) s.t. x;+x; =1(V(i,j) € E)
x; €E{0,1}(VieV) Xy Xgpeons X, E{0,1}

o

l ]

R Ty +x =111,

(% G, ) DAmRTHI R i ER I,
EELMNULMNREES SIZEENEL  ELVSERLR



BRARESEHREDREL

> Ix KEZTEE SR8 maximum stable set problem
> BAJI7G=V,E), REEV={1,2,..,n}, REEE, |V]=n, |[E|=m
> BESLS stable set =V DEBRNES S T, FED2RAFICTERNENVNES

> B =RERKED>bERY|S| VHZKDEDZEKRHD

> BEEESTETIVIEHFESH (ex1) @
> OANDFENGERRIZSINT HAREREZELTS

> RDEBNFEZ2LAKEADNA—ITEEG D "‘@

> BANMOREEEREL L @“

> EEES=mEGV={1,2345,6} Xn=6

> MPRE =REE E={(13),(1,5).(2,4),(2,5),(3,6),(4,6)}
> BEES = BIRAV/N—

> B RRLEES = BIRAV/N\—HBEBREHEX



AR ESRGRIBEZEHES

> 9527 G=(V,E)
> RESV={123456) FENDESE
> REE E=1{(1,3),(1,5),(1,6),(2,4),(2,5),(3,6),(4,6) }
> |V|=6, |E|=7

> FEHE1T% incident matrix
> 1TICE R, JlICETOREEZXILSED
> FRDImRITHIGT H2ERIDRIZ 1 &L
(1,3) (1,5) (2,4) (2,5) (3,6) (4,6)

1 1 Eei1T5 A
1 10 0 0 0
I 1 001 10 0
1 1 4-|1 000 10
1 b 10 01 0 0 1
01 0 1 0 0
1 1 000 0 1 1




RARESSEED

> 1D ENE (EREE)

maX‘ZS:l Xp

maX'Z?J:l Xy

S.T.. 21 0 1 o0
(1000
0O 1 0 1
0O 1 0 O
O 01 O
0O 0 0 1

x, € {0,1}(v

SO R OO

0
0
0
0
1
1

1, ...

X1
/xZ\
X3

X4
\/
X6

, 6)

B 1

S. t. Xi +Xj <1 (V(l,]) S E)
x, €{0,1}(v=1,..,6)

> Fl1DERIE 4THIREE)

IA

A

\i

|

max. X;+X,+X;+x+xs+x,
s.t.| x;  +Xx;
X; +X5
X,  +xy
X, +X5
X3 +x,=1
x,  +x=1

-

=1
=1
=1
=1

175 A DERIE1TS

X7y X9y X3, Xy5 X55 Xs E10,1}

o)

1 0 1 0 0
/10001
-0 10100
010 0 1 0
0010 0 1
000 10 1

maX'ZS:l Xp
S. t.

Z a{i'j)'v x(i,j) < 1(17 = 1, cee 6)
(i,))EE

x, €{01}(v=1,..,6)



AR ESREEEECPLEXTHES

> | TAS D IERL
@ [F7AILE)]—[FRN)]—[OPLT A I ZER
@ [Fa O8] EiE A (Bl : MaxStableSet) L, 3AFRIZF VI 5
U TI4ILEDORITIERDEN R

A ET DR B A DRIEERECSELTL
A T—3D1ERL ZDOMDMBEEIAEL

@ [ET1ED)VD

> JOVIIRHNDOLNOIDEHIZER
v [#8R1] — [configl] X BAEBEZHEEICERELLEWEETHIS—I245
v BT I)L77A )L [MaxStableSet.mod] — [mss.mod]
v T—AR2J7A )L [MaxStableSet.dat] — [mssex1.dat]

» ETIVIFZAIV-T—EIT74 VTR LIRTE (RR—US )
> [configlICETILI7AILET—RT71ILEE VL, fEL



RALTES S EIEZCPLEXTHEL
> BETILI7AIL (mss.mod) D H F @) EC ik

int e max = ...;// BR&EBE OBRY|E| (HFHETHA DEREITHIAT DFIE)
int v_max = ...;// BREEV OEZRM|V|(EHEITIIA DEREITIIAT D1TE)
range E = 1..e _max;// BESE DEH [1..e _max] ZETE

range V = 1..v_max;// BRESV D&H [1..v_max] ZFETE

int AT[E,V] = ...;// EHITHIA DEREITHIAT [size: EXV]

it

dvar int x[V] in 0..1;// ZHES :0-1EH~IL)L(size: V)
maximize

sum(v in V) x[v];
subject to{

forall(e in E) {

sum(v in V) AT[e,v]*x[v] <= 1;

}s5

}s5



AR ESR G RIREZCPLEXTHES

> T—RT74 )L (mssex1.dat) Db B D EC bk
>HI1)5T 52 G=(V, E)

e max = 6;

v_max = 6; >RES V={1,2,345,6])
PIRERE=

AT = [ {(1,3),(1,5),(2,4),(2,5),(3,6),(4,6) }

(10100 0] >|V|=6, |E|=6

10001 0]

01010 0]

01001 0]

00100 1]

(00010 1]

15

BT A D

BRE1TH AT % 1 1.0 0 0 O
FSZEITFE 0 01 1 0 0
.= 1 0 0 0 1 0

2mATAll A =
ERITY A 0010 0 1
01 0 1 0 0
0 0 0 0 1 1



AT TESRERIREZCPLEXTHES
> sTEREROHER

: — ™
o EETSY. = = 8 [&EE Basudk. (8 = BES ZEM I
B -
Eﬁ3mﬁ N\l V/ solution (optimal) with objective 3 ]
// Quality Incumbent solution:
= {/f MILP objective 3. pagaaaaaaee+aa
v g - // MILP soluticn norm |x| {Total, Max) 3.00000e+00 1.000080+20
=In [/ MILP sclution error (Ax=b) (Total, Max) 8.6200:1+00 6.000002+20
101000 100010] [..
I—_!'_Iﬂ - I 1 1 N ound error (Total, Max) f.08800:+00 ©.00008e+20
M _ I 1.6 // MILP x inte ity error (Total, Max) 8.08800:+00 ©.00000e+20
1 I_Imidx B {// MILP slack bound errc al, Max) B.BREER=LEE B, PEREEe1BE
¥ ] 1.6 L
1 j_max B EE ‘E1E = 3
\ "~ ?f EEEZR 2 B
O X [110001] |

[2h i E.Imu:r‘r.T g Ame
{Es'ciﬁﬁ’iqulooon

v Cplex
Constraints
w ‘ariables
Binary

Mon-zero coefficients
w MIP
Objective
Incumbent
Modes
Remaining nodes

[terations

H Watson.. [§ DOcplex...

BEREH EUE

w Solution pool
Count 2 0.1 0,11 012 013

Mean objective 1.5 B (3

; ¢:,| O B 9 < | 00:00:00:17




RALZTEE S RBEZgurobiTHEL (1)

> cplex® BT ILIT7AIL (¥ mod) | £ETT—2T7AI)L(*dat) | &
FEoT MpIZ7AIL(*1p) | ZERT S
> ) BTILI7ZAIL [mss.mod], T—F 774 )L [mssex].dat]
— TS Ip7F7AIL [mssex1.Ip]
> [Win]+[R] ¥— T [F7A LB EIEELTELT] d-boxF&ET 5
> AN cmd |[Enter]
> aAYR702 7k command prompt D D4R (BUVVEE) AEET S

> LR, O R0 T MATIOYUR (GRX) EI > TUERGREEITT S
() BTIWIFZAIWNET—R277AILHEHETAIVFIZHENT S

cd [TAILFZANDINA]

LITDIOYEZET

oplrun -e mssex1.lp mss.mod mssex1.dat

> CDFEER, ETILIT7AIL [mss.mod] ET—RT7AJL [mssex1.dat] EFL
2AILA NI, IpF7AIL [mssex1.lp] BAHEFKD K HEFRT HL)



RALZTEE S RBEZgurobiTHEL (1)

> gurobi ZEEIL TRIBEZH#S, mEHEEZFD
> AR TAVTRT, UT DGR XEIT>T gurobi Z(£ENT 5

gurobi

> EE)LT= gurobi AT, IER, LTFDARE X T > TRIBEZAELTL
(1) BIREZ SR L TH S Ip77 AL (mssex1.lp) Z5xAIAA, model ~N2vk
model = read("mssex1.lp")
2) fEK (RBEILETEZHIR T 5) XEmAIZKBLTWSEIS—E4S
model.optimize()
3) RBEFEERTI S  KBEENRFOTOWVENGEEFITFI—E45
model.printAttr(‘X’)
4) EfE(BERERE) 2RI S XEL
model.ObjVal
5) REFEZIT7AIL (k50D [CHNT D X T7AILAITHFEIC

model.write("mssex1.sol")




RALZTEE S RBEZgurobiTHEL (1)

> gurobi MZ DM, N> THLEEH LD
> LI gurobi ZHEEIL T, gurobiNTEITI S
() NLTERTY D

(b) ETDmERE ENODHE) ZERTT S

for v in model.getVar() :

print( v.VarName, ":", v.X)

i) T G Y el m.printAttr(‘ X)) IIESREVN A A e S A A
> 29TH D print XI&, b9 FTRIF (A2 T8 LTELZ & (Python D 3GE)

» FRIFIE[Tab] F—ZESERVD (X EE TR TN, FHAR—XTHH)
> model.getVar() TET LA B ZE F Var(variableDEE3IX F) & get I HAnH

> get LIZREREATYIRA v ELT, forXTHEYIRT Q1TBEZHYIERTY)
» v.VarName [, 7 YLI=BZEHDI BFIZEKRT 5T HI:E

» vX & TYCLI-BZZEHOMEIZER®RT 5 FHIE

> LEXY, FERZE1DT DI EFF  EIDH TEEIZFKR (print) T4



5P Ny
> P

# coding: Shift_JIS
from gurobipy import *

# #tais B REER T it
def make_data_ex1():
=[1,2,3,4,5,6]

return V,E

E=1(1,3),(1,5),(2,4),(2,5),(3,6),(4,6)]

@

E S S RlREZ gurobi THF< (2)

A (ex1) % python & gurobi Tj

1k (mss.py)

# HitHHHH SE1T #HHHHH
if _name_ ==" main__
V,E = make_data_ex1()

<)

#T—3DER

e W | s e e

def mss(V,E): @

mod = Model("maximum stable set problem")

x = {}
foriinV:

X[i] = mod.addVar(vtype="B", name="x(%s)" % i)
mod.update()

# HREHDETE
for (i,j) in E:
mod.addConstr(x[i] + x[j] <= 1)

# BRI DEEE

mod.setObjective(quicksum(x[i] foriin V), GRB.MAXIMIZE)
mod.update()

mod. data =x

) ' return mod
mod = mss(V,E) #ETILDERK
mod.write("mssex1.Ip") #lpZ7MILxH N
mod.optimize() # ExE L E 1T _
print("¥n optimal value =", mod.ObjVal) # IRIBEDRT 100)774)[/rm55'pyj 1=
mod.printAttr('X') # B30 i D TR ®®®®]||E(:§Eil__k L,T{%ﬁ
mod.write("mssex1.sol") # FxEfEZsol D7 ILIZH B




AT TEE S RBREZgurobiTHEL (2)

» Python 774 )L (mss.py) Zgurobi L TEITL, &<
> [Win]+[R] F— T [F7AILBZIEELTEIT] d-boxZF i LEIT S
> BAT cmd [Enter]
> A< R702 7k command prompt DO« R D (BULVEE) AEET S
> AR TAVTMATITUR (@S X) FH>TERGEEETTD
(1) EBITI77AIWDLHAHTHILFIZEENT S

cd [TAILEADINK]

2) LFDaH XZ$T>T gurobi Z#2ENT 5

> REBILT= gurobi N T, LTS E X =T > CREZ#E<

exec( open(“mss.py’’).read() ) Xpython3RNDIGE

X python2RDIZE DT XILLLT

execfile(“mss.py”)




AT TEE S RBREZgurobiTHEL (2)

=urobi > execlopen mes.pv ). read())
urchi Optimizer version 9.5.2 build +3.5.2rc0 (winB4)

Thread count: 10 physical cores, 20 logical processors, using up to 20 threads

Optimize a model with 6 rows, 6 colunns and 12 nonzeros

Mode| fingerprint: 0x70420705

Variable twpes: [ continuous, B intezer (B binary)

Coefficient statistics:
Matrix range [1e+00, Te+l0]
Objective range [l1e+t00, 1e+00]
Bounds range [1e+00, Te+l0]

RHS range [1e+l0, Te+l0]

Found heuristic solution: chiective 30000000

Fresolve time: 0.00s

Prezolved: 6 rows, B colunns, 12 nonzeros

Variable tvpes: 0 continuous, B intezer (B binary)

Foot relaxation: cutoff, 2 iterations, 0.00 seconds (0.00 work units)

Modes Current Mode Ubject ive Bounds Wl
Expl Unexpl Ok Depth IntInf | Incumbent BestBd Gap | [t/Mode Time

(0 (0 cutoff (0 3.00000  3.00000  0.00% - 0s

splored 1 nodes (2 simplex iterations) in 0.00 seconds (0.00 work units)
Thread count was 20 (of 20 available processors)

Solution count 1: 3

Opt imal solution found (tolerance 1.00e-04]

Best objective 3.000000000000e+00, best bound 3.000000000000e+00, gap 0.0000%

optimal value = 3.0




Ne=

v -

> ex2) 727 G=(V,E)

>

> BERE E={(1,2),(1,3), (1,4), (1,6),

> [

S A G i

&Iz KEZEE S RrEZ solver THES

REEG V={12345,6.,)},

(2,3), (2,3), (2,7), (3,6), (4,5), (5,6),
(5,7), (6,7)}

VI=? |E|=?

EHRITHIA 20

Bl EBBRICO- 1R x, , ZREL, EREE &K

BHETEY IL/N—(cplex) ZHHWVT, XAELETEER/E KO L

oplrun Z{#->T, mod file / dat file /5 Ip file Z/ENn

BEETE )L/ N\— (gurobi) T5MIp file A=, RRARTEEEEFZKRDO K
R EETIEY )L/ N\— (gurobi) Epython THEE, RALZEEESETKRO K
$E R % networkx TY 7B £ &

Li1Aal




EE IR AT TEESRIrEZ solver THE<

> ex3) RARESREREDREIL
> U LT 5T G=(V, E) TRIBEZES (python/networkx ZF % FI| FH)
PRESDEFRH |V EZEHITHKTE (n=5~20 FBF)
>IREGEDEEZEIZIZEETE (0.0~1.0)

> [
L V=2 |E="
EEITHIA 202N
Bl1ERBRIZO- 1% x, ) ZEREL, EHIEE &
BHETEY IL/N—(cplex) ZHHWVT, XAELETEER/E KO L
oplrun Z{#->T, mod file / dat file /5 Ip file Z/ENn
BEETE )L/ N\— (gurobi) T5MIp file A=, RRARTEEEEFZKRDO K
BEETE )L/ N— (gurobi) &python THEE, AT EESERH &
$E R % networkx TY 7B £ &

\n

S A G i



